Quadratic Inequalities

s (\REVISE THIS
I T

1 Solve x2+7x+10<0

(x+2Y1+s)< 0

CV. x=-1L
x=-5

2 Solve x2—-9x+20>0

(x-SYXx-4)>0

3 Solve x2+2x-15<0

(x +S)(x-23)<0
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—S< < -1

(Total for Question 1 is 2 marks)

X< or x>5

(Total for Question 2 is 2 marks)

-S<¢<xv<'5

(Total for Question 3 is 2 marks)
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4 Solve x2+x-12>0

(2 + N->0

CV. x=-4
1= 3 1< o x2>8

(Total for Question 4 is 2 marks)

5 Solve x2—-2x-24<0

(x-6)(r+H)< ©

CV. X=6
s = -l ——LkéxéC,

(Total for Question 5 is 2 marks)

6 Solve x2—-17x+30>0

(x-2)1—15) 70

Cy. x=2
A=1S x. 82 or x =15

(Total for Question 6 is 2 marks)

7 Solve x2-25<0

(> + s)1— 53 <0
CV. x=-6

o 1= 5 S<x <5
(Total for Question 7 is 2 marks)
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8 Solve 2x2—-7x-15>0

(2 +3)Ge-S) >0

LV x=-% X
=5 X <~7 erx>85

(Total for Question 8 is 3 marks)

9 Solve 3x2+17x—-6<0

(=1 46)<0

\
CN. X= 4 \
1z - - & X< %

(Total for Question 9 is 3 marks)

10 Solve 5x2—13x+6>0

(Sxxl)(x-—l )70

CV. 1= %%
Xz 2 XETF. o Xz L

(Total for Question 10 is 3 marks)

A\

\Y

11 Solve 2x2+ 15x+24<3—2x

ZJLL‘H/‘}DL +21< O
(A2 2P < O

.2
CV. x=-% —I< xe-%
~ A
ﬁ X = "'? (Total for Question 11 is 4 marks)
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12 (a) Solve x?-2x-8<0

(e-b)(x +2) <0

C/-\).JC:L\‘ _2’<I<(+

x:=~L

(b) Show the solution to x2—-2x—-8<0 on the number line below.

(Total for Question 12 is 3 marks)

13 (a) Solve x°—-7x+10<0

(x~-sNx-2 <O

o=

(b) Show the solution to X?—7x+10<0  on the number line below.

(Total for Question 13 is 3 marks)
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14 Find a set of possible values of x for which

4x-5<19 and X2—-8x—-20<0

ko-S5<19  (3e-102) < O
4y <24 C.V. % =1\0
~ L6 >z -2
—~)< < \D

both are Loue when —2<x «b

—2<¢x < b

(Total for Question 14 is 4 marks)
15 Find a set of possible values of x for which

6x+1>16 and x2—8x+12<0

ot >16 (3 =6Jx-2) <0
bx 7 \5 CLy. X=b

7 \S xX=2
o 2 <x<b
x7%

\OQH" oz krne wlhen %<x<6

.. =
| = <x<p
(Total for Question 15 is 4 marks)
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16 Find a set of possible values of x for which

x2—-11x+10<0 and 2x2+3x—-20<0

(c-10Xx-1) ¢ O Qa5 et+d) <D

CJ. =10 V. X=%
5= | .
| <oc< (0 b <x <4

both are frue when | <<

< x <%

v}

(Total for Question 16 is 5 marks)
17 Find a set of possible values of x for which

X2—-9>0 and 2x2—-13x+15<0

(e4+)~270  (Le-20c-5)<0
Cv >x=-5 CV. x= %
(%
L3 xX=65

X< -3 er X35 Z<xKS

\)bldﬁ fwe walhen R < S

. V< X <8
(Total for Question 17 is 5 marks)
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